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QUESTION BOOKLET

This question paper contains 200 wiqij\]les‘uons /TEUFA T H 200 99 € |
All questions are compulsory. / ¥t 7 fad € |
One question carries one mark only. / T ¥ % foTT haet U 37 ¢ |

Total Marks : 200 ATy 37 : 200
Time : 2 Hours qET ; 2 gU&
1.  In alinear reservoir, the

(A) outflow rate varies with storage

(B) volume varies with elevation

(C) storage varies linearly with time

(D) storage varies linearly with inflow rate

Teh (&I STeATer |

(A) fgdis ol @™ % 1Y Sgetdl 2 |

(B) SATIAH 3TS o T1Y &eeidT & |

(C) T= 993 & gk AU H Seetal & |

(D) T= 3qdig gl o {Raeh I H Seeral & |

2.  In cements, generally the increase in strength during a period of 14 days to 28
s 18 prlmarlly due to
I:ﬁ%’zﬁ mmraam 14 e & 28 fea <l o7a¥ o SR Aol 4 ghg Terfies &9
(A) C3A (B) C,S (©) G55 (D) C4AF
3. A beam of overall length /, with equal overhangs on both sides, carries a

uniformly distributed load over the entire length. To have numerically equal
bending moments at the centre of the beam and at its supports, the distance
between the supports should be

|l TS [ <hl e G foreh Q1 ST @HH W 8, FY01 o7elTg W Ueh HHH forafta
wwaﬁwﬁ%lw%%aﬁtwﬁsmﬂmmwmﬁww

2R 3 fore ST} 3 1 28 2R =T
(A) 0.2071 (B) 0.403 l (C) 0.5861! (D) 0.707 1
4.  The specific gravity of commonly available ordinary Portland cement is
AT ITTsd FTERYT Gdetvg Hibe o fafie aaa g |
(A) 3.15 (B) 2.05 (C) 4.95 (D) 1.05
5.  Ina section undergoing pure bending, the neutral surface is subjected to
(A) compressive strain (B) tensile strain
(C) zero straln (D) None of the above
3]G S < T I H qEY Hag Hatad
(A) gdred fasfd & (B) o faspfa &
(®) Qﬁﬁﬁ@ (D) 9 H & B A8 |
6.  In columns, the minimum diameter of longitudinal reinforcement specified as
per IS 456: 2000 is
Wl H, IS 456:2000 % 3TTER 31?%21( S o =[Aqd A9 & -
(A) 8 mm (B) 10 mm (C) 12 mm (D) 16 mm

Code No. : C-386/2017/Series-A



7. Total numbers of elastic constant of an orthotropic material are
Teh TSI TeTe & TeaTeerdieh i %ol HE&AT B :
(A) 9 (B) 8 ©) 6 (D) 2

8. Inthis layer i.e. cells become almost inactive and rigid as well as
no sap is there and lying close to the core of tree, older in age.
(A) Sapwood  (B) Heartwood (C) Cambium (D) Bark

39 WA H, 34 Y T (SR 3R g8 &9 1d & 91 & |1 398 99
(T8) & BT 3T SeeAT H &7 <6l 3h1e § Fehe &l ¢ |
(A) THET® (B) 37d:B (C) T (D) B«

9. A material is incompressible. Its Poisson’s ratio will be
Mo ~N N
Teh T SIS 3 | 3T Wi SUTd 81T

(A) 0 B) -1 (C) 05 (D) 1
10. A buttress in a wall is intended to provide
(A) lateral support to the wall (B) lateral support to the roof slab only

(C) resistance against vertical loads only (D) None of the above
Teh SR o &9 % CINDES
(A) SR I uTfydes AT YeM & |
(B) hael B hl TAd ol UTIIEh T T T |
(C) haet IEATER YR o U Iferier |
(D) 39 | U HIS &I
11. In a combined footing for two columns carrying unequal loads, the maximum
hogging moment occurs at
(A) The inside face of the heavier column
(B) A section equidistant from both the columns

(C) A section subjected to maximum shear force
(D) A section subjected to zero shear force

T YR T84 L aTet g1 Tul o G UTE B, STfeehad Idee STTeUl 2idT 8
(A) TR HiAH (TTT) Sl FACEA BeTh T

(B) S shicHH € HHH Gl s 1 W

(C) 3Afereha TTETVT &1 o T I W

(D) I JIEIV §¢1 & AT e T

12. Inasimply supported beam of length 5 m, a unit moment in kN-m is applied at both
ends in opposite direction. The magnitude of bending moment at centre will be
(A) Zero (B) 0.5kN-m (C) 1.0 kN-m (D) 2.0 kN-m
5. |E1E % T g IEId g § gHi ol W foweg foan # v b8 S
KN-m ¥ S BT & | 35 T Seh SAT01 T THHATIT BT

(A) X (B) 0.5kN-m (C) 1.0 kN-m (D) 2.0 kN-m
13. Sand particles are made of

(A) Kaolinite (B) Illite

(C) Montmorrillonite (D) Quartz

STe] 0T o4 BId ©

(A) H3NfeAEe  (B) 38 (C) TiedifieTge (D) &S
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14.

15.

16.

17.

18.

19.

A local soil with I, =15% 1s mixed with sand having I, = 0. If I, of mixed soil
is 6%, then the percentage of local soil in the mix is

T [, =15% hl QA geT1 [, = 0 H e & s <hi 2 | afe et e i 1, 6% &
frsyor & werefar et % wfderd 8

(A) 15% (B) 30% (C) 40% (D) 60%

A line PQ in an old map had magnetic bearing of N 60°E when the local

magnetic declination was 2°E. If the magnetic declination is now 3°W, what
would be the magnetic bearing of the line PQ now ?

Th GO TRl H W1 PQ 1 b fedA™ N 60°E & va T by feerara
2°F o1 | Afe 319 geehid feaara 3°W &, 378 W@ PQ 1 Jaeh ™ TG o1 g 2

(A) N61°W (B) N65°E (C) N63°E (D) N 42°E
In building construction, the place for providing damp-proof course is at
(A) plinth level (B) window sill level

(C) lintel level (D) rooflevel

o fmTor 4 3reme Ueft et el W e S 2 2
(A) wfaded  (B) faeifmeast (C) ieaddaa (D) ®d (¥%) oo

Stress-strain curve of concrete is

(A) aperfect straight line upto failure

(B) straight line upto 0.002% strain value and the parabolic upto failure
(C) hyperbolic upto 0.002% strain value and a straight line upto failure
(D) parabolic upto 0.002% strain value and a straight line upto failure.

Shehie oh1 faael— ol o &

(A) W7 T Teh U1 T @l

(B) 0.002% Tershfd Hear ek B {@T TR W Teh TATTATRR
(C) 0.002% Toehid Joo1 Tk HATTHRATATHRR TR T Teh TA @I
(D) 0.002% Torehid oo T TWATATHRR I T Teh T @1

In a pedestal, the factor by which the effective length shall not exceed the least
lateral dimension is

Ugted (FidtehT) U a8 ek fS8eh g THTE TFaTg [T dTfeaeh T § 31fereh
TE! IR ST Uehdl &
(A) 3 (B) 4 © 5 (D) 6

In a singly reinforced beam, if the permissible stress in concrete reaches earlier
than the permissible stress in steel, the beam section is called

(A) Under reinforced section (B) Over reinforced section

(C) Balanced section (D) Economic section

Teh Tshel Yaford & H, Ife ST Ticeiet STITa hl 3TUeAT Shshie § Ugel Ugadl &
e 1 bl hEd &

(A) =d yafId e (B) 31fd y&fetd e

(C) HdfeTd S1e (D) Toaerht #re
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20.

21.

22.

23.

24.

25.

26.

27.

What would be the safe stopping sight distance for a design speed of 50 km/h
in two way traffic on the two lane road if the lag distance 1s 30 m and braking
distance is 60 m ?

F¢ uz= gl 30 HI. 3R AL gt 60 WM. 2 d1 g1 o U W ¢ o ZIheh H Th 50
fop. = /=ue <1 fesmea wfte < fore guigrd werdi |mse gt 2rft

(A) 30m (B) 45m (C) 60m (D) 90 m

Prime coat is viscous than tack coat and hence applied tack coat.
(A) less, before (B) less,after (C) more, before (D) more, after

TTEH hIE 3 e A T BIAT 8 3T gHfeTT 2eh hie TR A1 R |
(A) F, 98 (B) HA,9RH (C) I, wEd (D) ek, agH
A homogeneous prismatic simply supported beam of length L, width B and depth

D is subjected to a vertical point load P. The load can be placed anywhere along
the span of the beam. The very maximum flexural stress developed in the beam is

Teh TS L, TeTs B 3R HIEE D <hl THFT GHUTYE T I[g ATl 9T Tsh HEATeR

g R P § Trafd g | R O o foregfa T endl o oft T S ka8 | O H S
JAfrhan AT Tfdeet 8

(A) 3PL/2BD? (B) 3PL/4BD? (C) PL/2BD? (D) 2PL/BD?

Which of the following is added for quick setting of cement ?

(A) Gypsum (B) Alum
;%’z Sodium Sulphate (D) Flyash
o I STHTd o fore ffoiRaa o @ w Tt siman 8 2

(A) Trem (B) fhesil (C) @ifsTmacthe (D) T@

Slump test for concrete is carried out to determine its
(A) Strength (B) Water content(C) Durability (D) Workability

hehie ohT TTUTd THI&T0T 3h /b o Tyt & foru feram sirar 2@ |
(A) qmd (B) AT (C) Tepram (D) et

One cubic metre of mild steel weighs about
Teh B HIet Hg $EITA Sl A & T
(A) 1000 kg (B) 5250 kg (C) 7850kg (D) 10000 kg

In open channel flows, the characteristic length commonly used in defining the
Reynolds number is the
gA) depth of flow gB) wetted perimeter

C) hydraulic radius D) area/top width

Tsh ol =T J4TE 1, Hies T ohi TR <ht 3 foTe AT SR SAfemnaifones oies 2

(A) JaTg 6l TETs (B) Top ufmma
(C) s e (D) &=het /3 <eTE
The water utilizable by plants is available in the form of
(A) gravity water (B) hydroscopic water
(C) capillary water (D) chemical water

o1 g SRS I 39 €9 H 30c1eY 8

(A) RASA  (B) JESH A (C) HRHRASTA (D) TERHD T

Code No. : C-386/2017/Series-A 6



28.

29.

30.

31.

32.

33.

34.

3S.

36.

For stability of floating bodies, metacenter should be
(A) above the centre of gravity (B) below the centre of gravity
(C) above the centre of buoyancy (D) below the centre of buoyancy

TAIHH YTl o TR o fotw 3ferehg g =i -
(A) T&cd g  HW (B) T&cd %5 b A

(C) SeATIHAT g o I (D) SATEHAT g o <

If ‘p’ is the standard consistency of cement, the amount of water used in
conducting the initial setting time test on cement is

ﬁ‘g’?ﬂﬁﬂzﬁmwﬁﬁé?ﬁ@ﬁ?mm@ﬁﬂwﬁaﬂ%uﬁugm ST <l
HEAT
(A) 0.50p (B) 0.65p (C) 0.75p (D) 0.85p

Recommended value of camber for thin bituminous surface is in the range of
v fegiH g Faqg o foTT hrar 1 9%d 43 36 W H 8
(A) 1/20to 1/30 (B) 1/30to 1/40 (C) 1/40to 1/50 (D) 1/50 to 1/60

If 375 g of water is required to have a cement paste 1875 g of normal
consistency, the percentage of water is

T T o o 1875 TTH HiHe U o o7 A¢ 375 U STet <hl STTawerehd BId & di
EEEIRI TR

(A) 20% B) 25% (C) 30% (D) 40%

For an RCC structure, 100 cum concreting is done continuously. The minimum
number of samples to be prepared for testing as per IS 456:2000 will be
@Rccwmas%m 100 cum ShshITeT Tad i & | IS 456:2000 o SFTIR THeor

o ToTu =aw fepd= Avaet S =T8T ?

For concrete of grade M50, the value of flexural tensile strength will be nearly

M50 U o hshi o foTT, AHA o TTH T A T 8IT
(A) 5N/mm? (B) 10N/mm? (C) 25N/mm? (D) 50 N/mm?

In case of highway construction, water bound macadam (WBM) grading no. 1
(G-]) consists of coarse aggregates in the range of

T (B15d) fmior & St sfera Aepred (WBM) 3T 9.1 (G-1) o Hier fiyetrer 34

TWEH A :
(A) 63 mm —40 mm (B) 90 mm — 45 mm
(C) 50 mm—20 mm (D) None of the above / 3T H § s 71

Number of gram equivalents for 200 mg of calcium carbonate is

200 mg h{cIFH HIFHE o TTH ol T&T 8

(A) 2x 1073 (B) 4x1073 (C) 6x1073 (D) 8x 1073
Which of the following is not a source of permanent hardness in water ?

(A) Chlorides (B) Carbonates ©) Sulphates (D) Nitrates
T § =TT el H TR H3RAT ol Eid 781 & ?

(A) IEgE  (B) ®EHIE  (C) Wowhed (D) TEeTH

7 Code No. : C-386/2017/Series-A




37.

38.

39.

40.

41.

42.

43.

If residual strength is 40 kg/cm? and edge load stress is 20 kg/cm?, what would
be the factor of safety ?

Ifg rafste amed 40 kg/cm? 8 3R R AR Ufdeet 20 kg/cm? & T FL&AT T[0T BT

(A) 2 B) 1 (C) 0.5 (D) 0.05
Which of the following parameter is determined using Winkler’s method ?
(A) Alkalinity (B) Hardness

(C) Fluoride content (D) Dissolved oxygen

faeert fafyr @ fafefea o @ =6 &1 e faif@ gar g 2

(A) e (B) whaRal

(C) FARTSE <l | (D) forefa aTerfiem

Which of the following category of lakes has least level of productivity ?
(A) Oligotrophic Lakes (B) Mesotrophic Lakes

(C) Eutrophic Lakes (D) Senescent Lakes
Frafafaa o @ gfici it o= @t 2oft 6 Seargendr aed fe T i 2t 8 2
(A) JfeTgHtse 3iel (B) HEIIthH icT

(C) Igiftheh it (D) &he 3l

A stress element is subjected to tensile stress of 5 MPa on both the principal
planes. The radius of Mohr Circle corresponding to this element will be

Teh fdeel dcdl o GHI G adl I 5 MPa 1 -4 Jidedt g | 38 aw o 3TI8T Higt
o <l e Aft
(A) 10 MPa (B) 7.5 MPa (C) 5MPa (D) Zero /3

Void ratio of an undisturbed sample of soil is 0.6. The values of maximum and
minimum possible void ratio are found as 0.8 and 0.4, respectively. The relative
density, in percentage, for this soil sample will be

T o Teh 3eged el o1 Tifeka 3139 0.6 7 | Tvfera fifaa S1ama w1 3tfeepad 31k
T | hHE: 0.8 3R 0.4 § | 39 7aT el & foTu 1miféres e wiirera o gim
(A) 25 (B) 50 ) 75 (D) 90

Rate of super-elevation, for a horizontal curve of radius 100 m and design speed
of 15 km/h, is

100 m =3 3R 15 knv/h TeTme e & &R 956 1 STRIce™ & g

(A) 0.015 (B) 0.01 (C) 0.02 (D) 0.1
Which of the following Hydrometer Correction factor is always additive in nature ?
(A) Meniscus Correction (B) Temperature Correction

(C) Dispersing Agent Correction (D) All of the above
Frfaftad § 9 s 91 gTSgHIct FRIY UTeh SHIM Yehid H TS BT & ?

(A) AR Fsned (B) dTIH TN
(C) ufteus Tsne= (D) 3w aeft
Code No. : C-386/2017/Series-A 8



44. Water content of a sample of soil is at the shrinkage limit. Which of the
following parameter will not be affected by reduction in water content of soil ?

(A) Volume of soil (B) Bulk density of soil
(C) Degree of Saturation of soil (D) Air content of soil
Teh 7T TRl ol STATST Fepa HHT W g | GaT o St § sl § FHefetiad § § HH
1 T THISd T 8T 2
(A) T 3T (B) &l 1 3T¥a T
(C) eI <hl HJHaT <l hife R HEIEIREIE
45. Main purpose(s) of seal coat is/are
(A) to seal the surface against ingress of water
(B) to develop skid resistance texture

(C) to enliven the existing dry surface
(D) All of the above

il e %1 g1 7g 2/7

(A) T o AT o foreg Tag ol Het
(B) oo wfaieht gwamn faspfaa e
(C) eHT I HAg hl ST HEAT

(D) 37 &+f
46. A steel truss consists of 9 members jointed together at 5 locations. This truss is
(A) Stable (B) Unstable
(C) Redundant (D) None of the above
Teh WA el 5 T T Teh T IS 5L 9 T A o1 g8 8 | I8 el &
(A) =rft (B) It
(C) IHTERIH (D) 3IWIh B | IS A&l

47. For the simply supported truss each member having length 5m as shown in
figure below, force in member BD will be

TP W SN TR Th g HATATT hell o Th G hl T« Sm 8 | He&
BD # e 1Tl

10 kN
B
A C
JAN D JAN ,
(A) 10 kN (Tensile) / (d9) (B) 10 kN (Compressive) / (Hdre)
(C) 15 kN (Tensile) / (@) (D) None of the above / 3T T ¥ g T&i

9 Code No. : C-386/2017/Series-A



48.

49.

50.

S1.

52.

S53.

54.

5S.

For a material, stress at proportionality limit is 200 MPa and modulus of
elasticity is 200 GPa. The modulus of resilience for this material will be

Teh Tere o foru i1 W gfdee 200 MPa 3 SeTere #d7e 200 GPa
2 | 39 uerd o fore farepfar (crareh) wmames &
(A) 0.IMPa  (B) 1.0MPa  (C) 10 MPa (D) 100 MPa

For concrete of grade M50, short-term modulus of elasticity will be nearly

M350 € o shshic oh foTU, 3TcUehTeild TcITERIdT HTUTSh ST BT
(A) 20000 N/mm? (B) 35000 N/mm? (C) 50000 N/mm? (D) 75000 N/mm?

Joint filler used during highway construction are

(A) Soft wood (B) Impregnated fibre board
(C) Both (A) and (B) (D) None of the above

TS 30T 3 SR S 1S I &

(A) Hg I8 (B) Gafud wEsR a8

(C) (A) 3R (B) g (D) 3 B | IS T&l

As per IS 456:2000, in limit state method of design, maximum strain in
concrete at the outermost compression fibre in bending is taken as

IS 456:2000 % 3TAR, Tesrea 1 i sreawen fafer #, s ° TRy gdie wEet
T hshie H STeha forhid o STl §

(A) 0.0020 (B) 0.0025 (C) 0.0030 (D) 0.0035

Which of the following is used for measurement of local velocities of fluid
flowing through pipe ?

(A) Venturimeter (B) Pitot Tube

(C) Orificemeter (D) All of the above

ﬁmﬁf@lﬁﬁﬁaﬁ?wwﬁwﬁ%ﬁﬁ%wﬁaéﬂ%mwﬁugmédl%?
(A) dgiifit (B) fRram@ (C) silifeafir (D) Swiw aft

For a laminar flow between two parallel fixed plates, maximum velocity
observed is 3 m/s. Average velocity of the flow will be

T IR TR wiel o s Ueh T YaTg o foru Stferenam a1 3 1t /9. YR R g |
g <hT 309 o7 g

(A) 1m/s (B) 1.5m/s (C) 2m/s (D) 2.5m/s

A king closer 1s

(A) 1/4 ofbrick (B) 4/3 ofbrick (C) 3/4ofbrick (D) None of these
Teh fohTT eFedion &

(A) LH1/4 (B) LH4/3 (C) LH3/4 (D) T8 Y DS T

Carbon content of steel is increased. Which of the following parameter of steel
will be reduced ?

(A) Brittleness (B) Strength (C) Hardness (D) Ductility
SO T Shs <h! I 9GTE 1S & | STTd ohT shid |1 AT=ied ST ?

(A) W (B) HmA (C) wH3Ral (D) =

Code No. : C-386/2017/Series-A 10



56.

57.

58.

59.

60.

61.

62.

In a tree, the cambium layer is situated between
(A) the outer bark and inner bark  (B) the inner bark and sapwood
(C) the sapwood and heartwood (D) the pith and heartwood

T 981 H THT 9L 39 o1 Bidl @ -
(A) TRl BT 3R AN BT 6 = (B) TG STeT 3T T o &
(C) THCT® 3R 3718 & o (D) T 3R 37d:HT o =

If 1% solution of a sewage sample is incubated for five days at 20 °C and
depletion of oxygen was found to be 7 ppm, B.O.D of the sewage is

fe T Hetolal 90d o 1% e =l 20 °C W dta e o fotw s fohar Stran 2
3R TSI o1 F4:3190T 7 ppm I STl &, Helotel o1 B.O.D &I
(A) 7 ppm (B) 70 ppm (C) 700 ppm (D) 0.07 ppm

Deciduous trees are having
(A) Broad and well defined leaves (B) Narrow and not well defined leaves
(C) Broad and not well defines leaves (D) None of the above

quidTdl et §
(A) e 3 gl o g 8 (B) & 3TN Teufaenfyd o 81 &
(C) dRIMIupFaTdade (D) ITIH | U HIs 781

The total unit weight of soil is 22 kN/m3. The specific gravity of soil particles
is 2.67 and the water content of the soil is 10%. The dry unit weight would be
T T[G1 1 el $9h13 R 22 kN/m3 8 | &l Uil o1 Tafre e 2.67 2 3R 9a1 1
STt 10%? [ $ohTs W BT :

(A) 20kN/m3 (B) 2 kN/m3 (C) 0.02kN/m3 (D) 200 kN/m3

A 30 m chain is found to be 0.5 m too short throughout the measurement. If the
distance measured is recorded as 300 m, the actual distance measured will be

T 30 m =M (S % HY0 A0 W 0.5 m B TRt St & | A A 7S g
300 m i fora 7, a1 areafess AT € g8 @

(A) 295m (B) 300 m (C) 299 m (D) 303 m

The fore bearing of a line is S39°42'E (no local attraction is there), the back
bearing of the line will be

Teh {1 o1 3T feel S39°42'E B (J&T ohis T HATHYUT 721 ), TaT b1 U3 feerl ™ arm
(A) S39°42'E (B) S39°42'W  (C) N50°18'E (D) N39°42'W

Average annual rainfall recorded over six rain gauge stations is 100 cm and
standard deviation from mean is 20 cm. For a 10% error in the estimation of
mean rainfall, the optimum number of rain gauges required is

: U AT RIHT T 3Hd a1feh 918 100 cm TRIRET 6 T8 3R A1 § AT h
ﬁﬁm%m cm @ | 37 JfY o HTeheT H 10% e b 7T HArereare sgad =i At <6l
el
(A) 3 (B) 4 ) 5 (D) 6
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63. Property of soil by virtue of which loss in shear strength caused due to
remolding is recover with time is known as
(A) Activity (B) Sensitivity  (C) Collaps1b111t (D) Thlxotro y
HET o1 98 1T FS18eh I9TE § Yeied (T HIC'SI‘I °b|{U| JTTETUT
1 I < T1Y IH: ITH Foha1 11 Toha &, W
(A) wfsra (B) welgasfierar  (C) ﬁtn?m (D) forsgigdt

64. A plate of thickness 0.010 mm, distant from a fixed plate, moves at 10 cm/s

and requires a force of IN per unit area i.e. IN/mm? to maintain this speed.
What would be the fluid viscosity between the plates ?

Th R wote & gff Tl g 0.010 mm WA =iE 10 cm/s & 7T HT @ & 35
TTfer sl ST W o foTu Ufd $ehts &rwet 1N ot 311d 1N/mm2 <hl 3Ta9dehdl & |
l‘(’|d|a;°||'°| adcd QQ|4G|WW?

(A) 1073 p01se (B) 104 poise

(C) 2 x 1073 poise (D) None of the above / 3T T ¥ g T&i

65. Deflection at the free end of a prismatic cantilever beam of length L, modulus
of elasticity E and moment of inertia I, under load P at the free end will be

L e, E SeTeeld] T 31 1 Sreed STTeu o Ueh SuTeelia Shrleie € o e
o o 9 P % 3T fagia g
(A) PL3/48EI (B) PL3/16 El (C) PL3/8 EI (D) PL3/3 EI

66. Which of the following will be significant in case of fluid flows where
compressibility effects are predominant ?

(A) Mach Number (B) Weber Number
(C) Reynold’ s Number (D) Froude S Number

%9 YaTE S8l FuTed YHE Y9 8 § ffaiad § § F Jewyul 8 ?
(A) B EEn  (B) dwE@n  (C) Wiesa@m (D) %3S &

67. Objectives of seasoning are

(A) Decrease in weight (B) Increase in strength
©) Increase in workability (D) All of the above
ks (ferfim) <1 38w @

(A) Wﬁ?ﬂﬁ (B) am i 3fg ©) gRRAH gl (D) 3I9Yh a+ft

68. Ifthe load stresses are 24 kg/cm2 warping stresses are 30 kg/cm? and frictional
stresses are 25.5 kg /cm then what would be the value of critical stresses
combination (in kg/cm ) at edge region during summer mid-day ?

3fe IR Ufceret 24 kg/cmz%’ Wgﬁﬁlﬁ 30 kg/cm2 % Bﬁ'{UElQUTEIﬁEIF{ 25.5 kg/cm?
8 Il TS HEATE oh QI i &1 T HTh shildeh STl T 4ot (kg/cm? H) 1 BT ?
(A) 24 (B) 54 (C) 28.5 (D) 57

69. Find the coefficient of permeability of a soil sample, if the value of hydraulic

gradient is 6 and area of cross section is 50 cm?. Also the quantity of water equal
to 600 ml passed down in 10 minutes under an effective constant head of 40 cm.

Ife SeTere IIUTdT 1 HF 6 § 3T i &7 ol &% 50 cm?2 8, Teh 40 cm T
@Ivﬂﬁ%eﬂw‘h 10 Firfe 5 600 ml STt <t AT TER Bt 8 a1 9eT el o1 Jramd
\l)Ullcb 3TTd ShITTT |
(A) 0.33 x 1072 cm/s (B) 3.3 x 1072 cr/s
(C) 33 x 1072 cr/s (D) 0.033 x 1072 cm/s
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70.

71.

72.

73.

74.

75.

On the basis of geology of area, if clayey foundation is there then the type of
dam will be

(A) Gravity dam (B) Earthen dam

(C) Rock fill dam (D) Low height gravity dam
&7 o - Tas % 3mem W afe ghen i 8 @ fora w1t g 2
(A) WIIfE Y (B) Herary

(C) Ush Ther &t (D) T 3=mE it &y

If the specific gravity and voids in a soil sample are G and e respectively, then
the hydraulic gradient i is represented by

¢ et gl o fafre o 3R fifth e G 3R e &, A1 SITQTe YavrdT i <hl 39
SR I ST B

G-1 G+1 1-G 1+G
(A) l+e (B) l-e © l+te (D) l+e
The coefficient of compressibility of soil is the ratio of
(A) stress to strain (B) strain to stress
(C) stress to settlement (D) rate of loading to that of settlement
HET T HUIE TUTTeh $EhT 3TIUTd &
(A) et & forepfa (B) faspla @ wfce
(C) Yfdqas & fwed (D) 9T Y T & e i X
Coarse grained soils are best compacted by
(A) Drum roller (B) Rubber tyred roller
(C) Sheep’s foot Roller (D) Vibratory roller

e U ITeA] el 399 oy Faf-d gidt 8
c

(A) TH UK (B) WRIFWAT (C) IMIFE IR (D) dSgsicdt Uek

The rise of water table below the foundation influences the bearing capacity
of soil mainly by reducing

(A) cohesion and effective angle of shearing resistance

(B) cohesion and effective unit weight of soil

(C) effective unit weight of soil and effective angle of shearing resistance
(D) effective angle of shearing resistance

Hig & = S qifrehl § gig, JEIadT 39l HHl o GRT eI hl TTR0T GHAT
WW%

(A) FEST 3R A& JeRIY <1 THTe SHIvT

(B) TESH 3TN &I 1 THTE $oh1s WR

(C) &I 1 YIS FohTs W 3R 3T Tfier b1 THTel o7

(D) 3TIEYYT Yfier 1 G ShivT

The maximum differential settlement in isolated footings on clayey soils
should be limited to

ftrenr ge) W feretfid dre i stftrendn faifeq Rver difa g =z -
(A) 25 mm (B) 40 mm (C) 65 mm (D) 100 mm
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76.

77.

78.

79.

80.

81.

Lime stabilization is very effective in treating

(A) sandy soil (B) silty soil

(C) non-plastic soils (D) plastic clayey soil
Tongeh ITAR W T o1 TRlentuT STcafereh JwTe &

(A) ST T (B) eI &

(C) AT el (D) wATf&esh gicrehmd e

The ratio of settlement at any time ‘t’ to the final settlement is known as
(A) co-efficient of consolidation (B) degree of consolidation

(C) consolidation index (D) Consolidation of undisturbed soil
Toreft e t* W T o1 3ifam e & 31dTa et &

(A) HEH OIS (B) o whife

(C) T gl (D) 378 FeT 1 HaH

A bar L metre long and having its area of cross-section A is subjected to a
gradually applied tensile load W. The strain energy stored in the bar is

L e o 3 A’ h1e &bl It Toh B T HAA: T HR W TFIa1 € | B |
gl forepfd et 8

WL WL W2L WL
(A) "AE (B) 2 °AE © 2AE (D) "AE
The radius of gyration of a rectangular section (Depth D, width B) from a
centroidal axis parallel to width is

Teh AR e (Eeh! HierE D 3 =ieE B ® 1) i =S & T g
378§ giymor = 8

D D 2D
(A) D/2 (B) m (®) ﬁ (D) %

Slenderness ratio of a long column is

(A) area of cross section divided by radius of gyration

(B) area of cross section divided by least radius of gyration
(C) length of column divided by least radius of gyration
(D) radius of gyration divided by area of cross section

Teh Sl hicTH o adl JIUTd &

(A) T & T A% / giygmor =

(B) I & T &%el / =Aaw uftgmor B

(C) =AW < ovaTs / =aw gy s

(D) ity 321 / 1 & 1 &%

A rigid jointed plane frame is stable and statically determinate if

T 3¢ TS g3 THaA i TR 37 wifas €9 4 gier g Afg

(A) m+1r)=2) (B) (m+r)=3;] (C) Bm+r)=3; (D) (m+ 3r)=3j
Where m is number of members, r is reaction components and j is number of
joints.

STEl m FeAT Sl TE&AT, 1 Td(shaT Teeh 3N j SISl ohl T 7 |
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82.

83.

84.

8S.

86.

87.

The BM of a cantilever beam shown in Fig. at A is

TRf | g Heiefier o7 o foig A W sk Imepet 3
2T

%A B D4 Tm

< 2m ¢ 2m —3
(A) 8 Tm (B) Zero (C) 12Tm (D) 20 Tm
The point of contraflexure occur in
(A) cantilever beams only (B) continuous beam only
(C) overhanging beams only (D) both (A) and (B)
gfastTd foig afed g &
(A) o hdlefial &= (B) hadt ad & |

(C) whaet yeteq () e A (D) (A) 3R (B) g d

Rate of change of angular momentum is equal to

(A) Torque (B) Force

(C) Linear momentum (D) Impulse

RV G § IREA <hl < 38eh 9 @ ¢

(A) SA-3mget  (B) & (C) Wassgam (D) 3mam

Four columns of a building are to be located within a plot size of 10 m x 10 m.
The expected load on each column is 4000 kN. Allowable bearing capacity
of the soil deposit is 100 kN/m?. The type of foundation best suited is

(A) Isolated footing (B) Raft footing
(C) Pile foundation (D) Combined footing

10 m x 10 m 3TN o T WIE H Teh fafeet o =1 v ferd fohe ST 2 | I
Y X TG WR 4000 kN 7 | geT fara sh 3193 amer &mat 100 kN/m2 % |
FAH ST 19 T THH &

(A) foafmae  (B) R UR (C) uTsa Hia (D) I UIG

A beam of square cross-section with side 100 mm is placed with one diagonal

vertical. If the shear force acting on the section is 10 kN. The maximum shear
stress is

100 mm ST 911 STTeRT ShTe &A% STl Ueh & Ueh forenuffa Ieaier o 9 Wl
JTAT 8 | Ffe e W TGdqH IS0 g 10 kN 2 a1 feehad 79991 Jfaed &
(A) 1 N/mm? (B) 2 N/mm? (C) 1.125 N/mm? (D) 2.25 N/mm?

If the length of a simply supported beam carrying a concentrated load at the
centre is doubled, the deflection at the centre will become

(A) twotimes (B) six times (C) four times (D) eight times
o5 X Ueh Hehfrad W 1 T84 i dTet! G ATl 9T hl @aTg of THT =hi ST
ql, g T fag grem
(A) QTN (B) ®: T (C) =mIH (D) 33 T
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88.

89.

90.

91.

92.

The following statements are related to bending of beams :

I.  The slope of the bending moment diagram is equal to shear force.
II. The slope of shear force diagram is equal to load intensity.

III. The slope of curvature is equal to flexural rotation.

IV. The second derivative of the deflection is equal to curvature.

The only false statement is

frefeitad U 9t o o § T2 &

I Sohd STVl 3TRE 1 G JTIEIV §cf o THM & |

. 3TIEIY 96 3TRE H1 €TeT HR HIeldl o T9H 8 |

III. Ishdl I GTt ST U o THH % |
V. fagm &1 fgda == ashar s TaH 2 |

hHadl 3T HIF &
(A) 1 (B) 1I (C) III (D) 1V

The ratio of the theoretical critical buckling load for a column with fixed ends
to that of another column with the same dimension and material, but with
pinned ends is equal to

T TR Ut s v <+ 3 Hoglldch 9h||<1°h oeughtH wwﬁtr fopu ol 9Tt IHH
Waﬁtwﬁ%@w% dgcreh shifceh SATHa VR & 37T &
(A) 0.5 (B) 4.0 (€) 2.0 D) 1.0

The effective stress friction angle of a saturated cohesionless soil is 43°. The
ratio of shear stress and normal effective stress on the failure plane is

T HqH HESHEH Tal o1 THTE] Tiaae =6 Shior 43° 8 | Wi JHa T STIEI0
it 9 T T SR 1 S &
(A) 0.781 (B) 0.616 (C) 0.839 (D) 0.932

Which one of the following is categorized as a long term loss of prestress in
a prestressed conc. Member ?

(A) Loss due to elastic shortening  (B) Loss due to relaxation of strands

(C) Loss due to friction (D) Loss due to anchorage slip

Q%g‘?%uldqmq Gehfrgd HeE H fHfaiRad § € iF &1 qd faaa 61 @l 3@ty
o foru affepe & 2

(A) TCITEY IMEHT o HROT BT (B) &g <l faerfe = shron g1f

(C) =uT o R BT (D) TSt feeTd = vt g1

A rectangular open channel of width 5.0 m is carrying a discharge of
100 m?/s. The Froude number of the flow is 0.8. The depth of flow (in m) in
the channel is

T 5.0 1. =t ST Gl R 100 m?/s T 1 98 Sl 8 | T9T8 A
T3S 99X 0.8 3 | =1 § Ja1g <hl T8Us (1) 8

(A) 4 B) 5 (C) 16 (D) 20
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93.

94.

9s.

96.

97.

98.

A bar of dia. D embedded in a conc. block with a pull-out force P applied to
it. The length of embedment is represented by L and Tyq 1s bond strength and
fy 1s tensile strength of bar. Which one of the following options represent the
max. value of P ?

Teh Gehfrad scileh H ToohuUl 961 P W o18 D hl B¢ AHEd 8 | 3705410 6
IaTs L g eIt STl B, 99 AW Tyg 2 3R B o1 a4+ amed fy 7 | FafaRaa
o I o1 foehed P o HEH Yool hl Teiid T 2

(A) 087 fyyD* (B) 0.87fy7D (C) 087fy5D> (D) 0.87fygD

As per the figure which of the statements is true ?
3ThId h TR i | HUH T & ?

A >m B
W
(A) T;=T, B) T,>T,
C) T;<T, (D) None of the above / dqfirh T g Tl

The Reaction at support C in the structure shown in figure is

TTRId T GRITRA 715 FCaHT H 3MUR C W ik &

80 kN
N B
A O D
y 3m L im 1Lo.5r’r’§f’ 4m »4:}7
(A) 52.5kN (B) 60kN (C) 67.5kN (D) 75kN

As per 1S:800, the max. deflection in a beam should not exceed

1S:800 % FTER, U H FARrehad foeiq sad e T8 g =iy
(A) 365 B) 355 © 355 (D) 155

The maximum shear stress of steel beam should not exceed

ST U BT SATehdH e sl 36d Jtfereh T2 2T =1fEe

(A) 0.45ty (B) 0.55fy (C) 0.66 fy (D) 0.50 fy
This permissible stress in axial compression depends mainly upon

(A) effective length (B) sectional area

(C) radius of gyration (D) slenderness ratio

it Tdte o1 g 3TEa Ufaee geraan 36 W e e 2
(A) SuTei T (B)  UR=sd™ &t (C) uiymwr Bsan (D) ddan 3ium
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99. A tension member consists of a pair of angles placed back to back on the same
side of gusset plate. The value of k for calculating net area is given by

THE Wi 6l TUH UIvd T T o HIe Toh Wi I ST Tsh - T¢8 T&T TR R |
G &A% ohi TTUHT < TTT k 1 e &

3 A, 3 A, 5A, 5 A,
A 3a, 74, B 34+, © 5474, O 35474,

100. In plate girders, vertical stiffners are required when the ratio of clear depth of
web (d) to web thickness (t)

T TS U, SHETI WA (TgHRT) HE9IH & 9 9 hl g a3 (d) § 96
HIeTS (t) 3T 31U 8

d d d d
(A) ?>65 (B) ?>75 ©) 1> 85 (D) ¥>95

101. Diagonal tension in a beam
(A) 1s maximum at neutral axis
(B) increases below the neutral axis and decreases above the neutral axis
(C) decreases below the neutral axis and increases above the neutral axis
(D) remain same throughout the section

Teh o T forepuf qoF

(A) T 3781 T SA(UHaH & |

(B) TCEY 38T o I 5@ & 3T deEY 3787 o HU TeT & |
(C) TEY 38T o =1 Tl & 3T qeY 3787 & SR AT 2 |
(D) vl uftese (S1e) W auH &l % |

102. In limit state method of design, the maximum strain in steel at failure 1s

festren <1 ferfire e fafyr H, win W seura <t srferaw forepfa @

f f

(A) 0.002 + lES (B) —LM <5 +0.002
_ty ty

(C) T75gg * 0-0035 (D) 0.0035 +Eg

103. Ifin a conc. beam the modular ratio is m, ratio of stress in steel to conc. is r,
overall depth of beam is d, then the depth of critical N.A. of beam is

¢ Th Hehfrgd O H HISIeR 3TUTd m &, It H Jidsel & Hehgul o ST 1 &,
I3 <l FYUT MRS d B T G i shifaeh N.A. i T&Ts &

W) h=d B —d (© Td (D) Tt
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104. Which of the following statements is incorrect ?
(A) Minimum X-sectional area of longitudinal reinforcement in a column is 0.8%.
(B) Spacing of main bars measured along periphery of column * 30 cm.
(C) Reinforcing bars in a column should not be less than 12 mm in dia.
(D) In circular column, min. no. of longitudinal bars should not be less than four.

feffegd g s T HAE T B 2

(A) T &Y H e Tae 1 a0 X-TR=sd™ 9% 0.8% 2 |

(B) %W <t qii¥ < TfCeT T eI § TFeh1™I 1 714 + 30 cm B! AT |
(C) b &Y T Sl ol I8l SAH § 12 mm & T&1 8141 =11 |

(D) T I &W 1, ITCe B hl <[IaH H&T IR § A T8 a1 11T |

105. The minimum eccentricity for design of column as per IS-456-2000, where L
is unsupported length and D = Lateral dimension. .
1S-456-2000  FFAR T h TETg § =[IaH Ieshgal &, SEl L ATl
T 3R D qreets g §
L D L D L D L D
A 300750 @ 3500730 © 3007500 P 3007300
106. A vertical triangular area with vertex downward and altitude ‘h’ has its base
lying on the free surface of a liquid. The centre of pressure below the free
surface is at a distance of

e SHeater BrysTer & 7 Tt sy sten feen & 3t =g ‘b’ 8, $EeRT 3MUR
39 1 Th {8 W AENT 2 | Gk 98 o 1< 30 gl WEE 5 2 -

(A) % (B) h/3 (C) h2 (D) 23—h

107. An increase in metacentric height
(1) 1increases stability (11) decreases stability
(i11) increases comfort for passengers (iv) decreases comfort for passengers
The correct answer is

(A) (i)and (iii) (B) (i)and(iv) (C) (ii)and (iii) (D) (ii)and (iv)
Jrferehfes A H gfg |

(i) wEAIfgardie |

(i) TR A gE a2 |

(iii) AR % Hpd (ARmHeE!) o gfg Bt 2 |

(iv) IO & 6 (AHCET) T HHt Bl 2 |

HE T B

(A) ()3 (i) (B) ()M (v) (C) (i) (i) (D) (ii) 3 (iv)
108. Stream lines and path lines always coincide in case of

(A) Steady flow (B) Laminar flow(C) Uniform flow (D) Turbulent flow

THY 9T R 3Ty [ gas STt @
(A) BryEr (B) WREWEE (C) Wedyar (D) 9y yaE
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109.

110.

111.

112.

113.

114.

115.

A pitot static tube is used to measure the velocity of water in a pipe. The
stagnation pressure head is 6 m and static pressure head is 5 m. Calculate the
velocity of flow assumln%the coefficient of tube equal to 0.98

U fUere wfe Teft urgy o Ut % o Ao H W 2 | W6y 9 3 6 m B 31K

wifceh gr@ 3 5 m B | JETg o1 S 1 HIRT | Z& 1 UM 0.98 T T |
(A) 2.34m/sec (B) 3.34m/sec (C) 434m/sec (D) 5.34 m/sec

Two pipes of same length and diameter ‘d’ and ‘2d’ respectively are
connected in series. The diameter of an equivalent plcrl)e of same length 1s

A) lessthand B) betweendand 1.5d
C) between 1.5d and 2d D §reater than 2d

U TS 3T hAST: d’ 3R 2d” =8 Areft ¢f 91gy vt 1 S 55 8 | THH oS
=l Teh qcd UTSY 1 I &

(A) da=a (B) d3W1.5d% =

(C) 1.5d3R2d %= (D) 2d % 3feres

If the depth of flow in a channel is 1 m and velocity of flow is 2 m/sec, then
the velocity with which an elementary wave can travel lggstream 1s

Ffe T =c1 H T8 ! TEWs 1 m 3 TETE 9 2 my/sec & 1 TRV 71 foper o
T JaTg <l Tl femm # TR o Tehd & 2

(A) 4.132m/sec (B) 3.132m/sec (C) 2.132m/sec (D) 1.132 m/sec
A 2 km long pipe of 0.2 m diameter connects two reservoirs. The difference
between water levels in the reservoirs is 8 m. The Darcy Weisbach friction
factor of pipe is 0.04. Accounting for frictional, entry and exist losses, the
velocity 1n the pipe (in m/s) . . .

0.2 m =Y 3l 2 km Tl 939 g1 TATAT 3l A1l & | AT H A &L h AL
I 8 m B | UTgY <hl STHi —{e@sieh B80T 0Teh 0.04 & | &1 <h foTq wefer 37K il
FIT TUMET STHR 9189 § 7 (m/s #) B

(A) 0.35 (B) 0.63 (C) 2.52 (D) 1.25
Hydraulic radius is equal to .

A) area divided by the square of wetted perimeter

B) area divided by wetted perimeter

C) wetted perimeter divided by area
D) square root of the area

o

SAd [AY] Heh HHIA %

(A) TomuimmFaiafomia s (B) e ufwm § fawfsa &=

(C) & g fawfora faeh i (D) &% &1 T

The ruling gradient in a hill road is 6%, and a horizontal curve is provided for
a radius of 75 metres. The compensated gradient of the road will be

Teh Jad1F Egeh <h! femes Yaurdr 6% & 31X 75 Hiet ) s & fou we afas o
e St 2 | gk <l Uit Jerordn gl

(A) 3% (B) 4% ©) 5% (D) 6%
Road roughness is measured using

EA% Benklman Beam ' ng Bump Integrator

C) Dynamic cone penetration D) Falling weight deflectometer
(A) ShetHe T (B) U 3fex
(C) Tifceh S JEq (D) IfeqT ae fewetare et
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116. The super-elevation to be provided in horizontal curves of radius R in hill
roads, where V is the speed in kmph is
TddiT Tgehi R e et @fost skl § I8 areiieer fearn Sran 2, s $&T V, kmph
HA g

V2 V2 V2 (V +8)2
(A) 7R B) 175R ©) 7225Rr D) 27R

117. For a vehicle moving with speed of 80 km per hour, the brake reaction time,
in ordinary case

SOM%rIHﬁwéﬁnﬁ@nﬁuﬂww%WWﬁiﬁﬁmmq&rm
qq
(A) 1.5sec (B) 2.0sec (C) 2.5sec (D) 3sec

118. If L is the length of moving vehicle and R 1is the radius of curve, the extra
mechanical width b to be provide on horizontal curve

gfe L faae 918 <hl TS 3T R shdT 531 8 1 &St sk T YeM <hi 178 31fdih
ik 91k b
L2 L3 2L

(A) 7% B) 2 © 3= D)

119. For a given discharge, the efficiency of sedimentation tank can be increased by
(A) increasing the depth of tank (B) decreasing the depth of tank
(C) increasing the surface area of tank (D) decreasing the surface area of tank

feu T freor o fofu sremTel I <t carar S Rl S Hehdl @
(A) 3 il TS TG | (B) 3 i TS IR |
(C) ¥ 1 Had! A% 9GTeh | (D) % I TdE! EAHA HTH |

120. Disinfection efficiency is
(A) increased at higher pH values of water
(B) reduced at higher pH values of water
(C) unaffected at pH value of water
(D) highest at pH value equal to 7

ToreshmoT gara
(A) STASIFApH IR WA 2 | (B) STt o 3o pH Yo W HH Bl & |
(C) e % pH e W IIIa wet 8 | (D) pH Yo 7 W HATIH 7 |

121. For the same solid content, if the quantity of sludge with a moisture content
of 98% is X, then the quantity of sludge with moisture content of 96% will be

A 319 T < foe, afe 98% =TT [T dTet HeAsiel shl AT X B, 1 96% TH! oot
AN hl AT BT
(A) 2X B) X ©) X2 (D) X/4

21 Code No. : C-386/2017/Series-A




122. Following process used in a water treatment are Rapid Mixing (RM),
Flocculation(F), Primary Sedimentation (PS), Secondary Sedimentation (SS),
Chlorination (C), Rapid Sand Filtration (RSF).

The correct order of these in a water treatment plant :

Sy swuﬁ o SfsRad Speh Bilt 7, 3fter firsror (RM), SoiA(F), wmfires srasmeq
(PS), Teiiare FAeETE (SS), ax—vﬁﬂ%l‘\fl?(C) sfter &1 f=Ie (RSF).

Teh STl IUER T H ST A&l ohH

(A) PS — RM — F —> SS — RSF — C

(B) PS>RSF>F—>RM >SS —>C

(C) PS>F—>RM—->RSF—->SS—>C

(D) PS>F—>SS—>RSF—>RM - C

123. Following are some parameters and their desirable limit, the correct sequence is

Parameters Desirable Limit (mg/1)
1. Nitrate A. 0
2. pH B. 03
3. Iron C. 6.5t08.5
4. Dissolved solids D. 45
5. BOD E. 500
frefefea 3o Tt 3R 3h! ae-ig dud &, Tt w8
BIER] s St (mg/l)
1. AR A 0
2. pH B. 03
3. ™A C. 65985
4. AL I D. 45
5. BOD E. 500
(A) 1-A,2-B,3-C,4-D,5-E
(B) 1-E ,2 D,3-C,4-B,5-A
() 1-D,2-C,3-B,4-E,5-A
(D) 1-B,2-A,3-D,4-E,5-C

124. The volume of one Bag (50 kg) of cement is
e I (50 kg) T T ARG

(A) 0.0035 m3 (B) 0.035m3 (C) 0.35m3 (D) 3.5m3
125. Inert material in cement conc. matrix is
(A) Cement (B) Aggregate (C) Water (D) All of the above
Hhie I a8
(A) Hre (B) framan (C) (D) 39k Gt

126. The first compound to be formed in the manufacturing of cement is

Tore o 3cured | fmir foman S e v Aifies 8
(A) C,S (B) C,S €) C,A (D) C,AF

127. The total amount of water required for hydration of cement and to fill the gel
pore is

U= o SIS 37T e T sl W o ToTU 3Ta93eh ST <hl AT &
(A) 32% (B) 42% C) 2% (D) 62%
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128.

129.

130.

131.

For a Heavily reinforced conc. section the most suitable slump value will be
Teh 31f¥reh YEfoTd ehehlc I o foTu Haifere ITeh STauTd got g
(A) 25-175 (B) 75-125 (C) 50-100 (D) 100-150

The development length of bars as per IS-456 is given by
IS-456 % TR TSI ! STATIHE TS SR STl B

4 2
P g PO ) 2% ) L

Thd 3 Tpq 3 Tpq 4 Tpg

(A)

Where 6, = stress in bar, ¢ = dia. of bar, Tyq = design bond stress.
TRl G, = TS H Ufded, ¢ = BS 1 M, T, = J(hcdd 54 Tidea

In levelling between two points A and B on opposite banks of a river, the
following readings were taken :

Level position Staff Reading
A B
A 1.500 1.00
B 1.350 0.850

IfR.L. of A 1s 100.0 m, the R.L. of B
(A) isless than 100.0 m

(B) 1s more than 100.0 m

(C) 1s100.0 m

(D) Cannot be determined by given data.

T 161 o Toid fohii W QT Toig A 3TR B o o= goder § fefaRaa dfen fag

Rl LU
g feafy s i
A sB
A 1.500 1.00
B 1.350 0.850

Ife ASTR.L. 100.0 m &, B T R.L. 8

(A) 100.0 m ¥ %0

(B) 100.0 m ¥ 31ferh

(C) 100.0 m

(D) few T stteret & Fruffa 72t foran s T

With the rise of temperature, the sensitivity of bubble tube

(A) decreases (B) increases

(C) remains unaffected (D) None of the above
ATIHM H F1g o H1 ToA il shl FogARierdl

(A) =edi g (B) wedie

(C) 3rywTfard Wt 2 | (D) 3 B | IS T8l
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132.

133.

134.

135.

136.

137.

138.

139.

The length of a vertical curve connecting two uniform gradients of + 0.8%
and — 0.6%, the rate of change of grade being 0.1% per 30 m will be

+0.8% 3T — 0.6% °hl Gl THHHT JeIUTT ! SIS STcl Teh SHEal e oI5k <hl THTg
2 : U H uiEdd ol @ Iid 30 m, 0.1% 2

(A) 220 m (B) 320m (C) 420m (D) 520m

If L is the length of transition curve and R is the radius of circular curve, then
the shift of the curve is given as

¢ L HhAYT 956 shi TS 3R R i sk i s & a1 3k <6 frwe grft
212 L2 L2 L
(A) 24R B) 2R © LRz (P) 24Rr

A negative declination show that the magnetic meridian is to the
(A) Eastern side of true meridian  (B) Western side of true meridian
(C) Southern side of true meridian (D) Northern side of true meridian

Teh 0T feeTd ST & <hl Faehi AT

(A) IT IR S AT HR | (B) I Iril & Uil AT H 2 |
(C) I AT b SO AT HE | (D) T AT o IAX AT H 7 |
The moisture content in a well seasoned timber 1s

(A) 4% to 6% QB) 6%1t08%  (C) 10%to 12% (D) 15% to 20%
Teh 37T 8 ¥ YR MU (Fiig) AT oiohe O 7} Sl A 8 |

(A) 4%86% (B) 6%88% (C) 10%¥12% (D) 15%H20%
The pressure acting on the stones in store masonry const. should be

(A) along the direction of bedding plane

(B) at 45° to the direction of bedding plane

(C) at 60° to the direction of bedding plane
erpendicular to the direction of bedding plane

(D) rection
wH (TeeR Sl TATS) SR | YeeR W o aTedT €16 8T |18y
(A) &1 qe <hl Teom o arfem (B) &I qc hi Temm & 45° W
(C) T&OT et <6t femm & 60° (D) GO aet <ht femm o eaad
As compare to English bond, double Flemish bond is

(A) stronger (B) more compact (C) costly (D) None of the above
foTeT S1E <l T § S9A A THYT SIS & .
(A) AfUs ASe@ (B) sk dsd  (C) Ham (D) 3% U T his Tal

In any good staircase, the maximum and min. pitch respectively should be
(A) 40°and25° (B) 60°and 10° (C) 75°and 30° (D) 90°and 0°
fopet 3es diart o, srfrepan 3iv =aw e s B9 =iy -

(A) 40°3TR25° (B) 60°3MW10° (C) 75°3MW30° (D) 90° 37 0°
Reinforced conc. slab act as

(A) Rigid diaphragm (B) Flexible diaphragm

(C) Brittle diaphragm . (D) None of the above

JeToTd shshle Wid $8eh €U T T LA 2 -

(A) 3¢ SHETHM (B) <ir=reficl SETH™

(C) W SRThM (D) 3w B | IS T8l

Code No. : C-386/2017/Series-A 24



140. The relation between duty D in hectares/cumec, depth of water A in metres
and base perlod B in days is given by

é%il D (SHHUIT) SR /I8 B, T sl TaUs A Wiet T 31 3R Frat B feqi

o= gaY eI SIrdT @
1.98 B 398 B 5.68 B 8.64 B
W) A=THT B) A=TH (O A=TRE (0) A=

141. Which of the following country is not a member of ASEAN ?
(A) South Korea (B) Vietnam (C) Thailand (D) Indonesia

H ¥ % 91 ¢ ASEAN 1 96 T8 & ?
(A) <o sifEr (B) forardm (C) T3eivs (D) SSHRRE
142. Who among the following is the author of the book ‘Life Divine’ ?

(A) Vivekananda (B) Dayanand Saraswati
(C) Ram Krishan Paramhans (D) Aurobindo Ghosh

AT TSaTE” [T o olEeh & 0
NBEEEICH (B) TIME Tl (C) THHSIWHgd (D)  3RIe< 91
143. 4G stands for

(A) Four Generation (B) Fourth Generalisation
(C) Fourth Generation (D) None of these

4G 9 aTc9E &

(A) BRSHEE (IR Ht) (B) WY STETESITH

(C) I S (<eft i) (D) ¥ & % T

144. ‘World Red Cross Day’ is celebrated every year on
(A) 1% May (B) 7" May (C) 11" May (D) 7% June
3q feq o T she feam v Sran

(A) 173 (B) 77 (©) 117 (D) 7
145. Pulitzer Prize is awarded for outstanding work in the field of

(A) Literature and Journalism (B) Science and Technology

(C) Public Service (D) None of these

fopet & o Icpe iRl o for Gfereor Jreepmt Se feparr ST &7

(A) FfEe 3 T (B) fasm 3t wrenfireht

(C) 4 = (D) 37 A IS &
146. Duleep Trophy is associated with the game of

(A) Cricket (B) Hockey (C) Football (D) Badminton

TfoTd 2Ihl 39 @t § HefYd 3 ’

(A) Tohehe (B) Tieh! (C) Fedia (D) Ssfiea
147. M.F. Hussain, is also known as

(A) Picasso of India (B) Plato of India

(C) Auristotle of India (D) None of these

TH. T, o %l 38 A | off {1 ST & -

(A) WA 1 fuemrat (B) WA 1 &l

(C) YT T 3T (D) 0 O His &l
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148.

149.

150.

151.

152.

153.

154.

15S.

156.

‘Operation Blackboard’ aims at
A) promoting adult literacy
B) providing education to urban slum dwellers .
Rfowdmg minimum essential facilities to all primary schools in the country
one of these

‘ SAhES’ I e & :

(A) g e =i sgre &

(B) IT&{ Tt el | T aredi ol e S

(C) <1 % afi snfires e sl =Faw STevess gagnd JeH ST

(D) 78 & 1S T

Nail polish remover contains

(A) Acetic Acic% B) Benzoic Acid(C) Acetone (D) Benzene

ﬁsalﬁw%mﬁgg
(A) wHifes (B) s=igsh Ufig (C) TEHiEH (D) S=fH

Number of bones found in skull (neurocranium) :

(A) 8 - B(Z 15 ‘ (C) 23 (D) None of these
GIIE! ([ehi-am) T fohat e arft STt 2 2 ‘ .
(A) 8 (B) 15 (C) 23 (D) T ¥ HIE &I
Haemophilia is a genetic disorder which lead to
(A) heart disease (B) decrease in haemoglobin level
(C) _non-clotting of blood - é[_?% None of these

Teh AN (IR g e gl 3 .
(A) BT & Fiud (B) Tedwetielia otaet & st

(C) T 1 & (SHE) TEiaT | (D) 390 @ hig T8l

‘Athlete’s foot’ is a disease caused by

(A) Bacteria (B) Virus (C) Fungus (D) None of these
TeAIgH R’ (UG 8g) UM SHb GIUBIATR : , ,
(A) (B) <= (C) ®%a (D) 3T & I TE

Which blood group is a universal recipient ?

I A1 Th T DI R

(A) A (B) B (C) O (D) AB
Bamboo i1s classified as

A) herb B) shrub C D) t
ngg'aeﬁrqiﬁehq% (B) shru (C) grass (D) tree
(A) % (&%)  (B) & (©) q (D) F&

Which one of the following has the largest wavelength ?
A; Visible radiation ﬁ%; Ultraviolet radiation
C) Infrared radiation, =~~~ (D) None of these
H § forgeh! qUTCTeTS Ha8 3714 3 2 . '
(A) T fafer  (B) weiTH fafertn (C) stawe fafetor (D) 370 @ 615 &

Galvanized iron sheets are protected from rusting due to presence of a layer of

(A) Zinc (B) Tin (C) Lead (D) None of these

TH U ol IUTRA Tl oh T TTee T3l JTEA I ol ST T H ST Fehdl &

(A) Sre (B) A (€) @8 (D) H & I3 8
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157.

158.

159.

160.

161.

162.

163.

Which of the following is used in oven ?
A) Microwaves (B) UV rays  (C) Radiowaves (D) None of these
o | = 91 3T § I BT & 2

(A) q&Hqal (B) UV (C) e o (D) T & g & |

The Dynamo converts

(A) electrical energy into mechanical energy

(B) mechanical energy into electrical energy

(C) chemical energy into electrical energy

(D). None of these

SRIH] TN Tl & . .

(A) o St o Tifp 3t 1 | (B) FTHIeh Sl

£
(C) THANS S HI fTga SAH | (D) 0 & B T&i

Disguised unemployment generally means that

(A) marginal productivity of labour is zero.

(B) productivity of workers is low.

(C) large number of people remain unemployed.

(D) None of these.

e SIS § ST 3 & .

(A) & I S SACHA A2 | (B) HTHehi ! Icargshal (H 7 |
(C) T T AT SUTMR Ed 8 | (D) 39§ I 781 |

The main objective of the Twelfth Five Year Plan is
(A) inclusive growth and poverty reduction

(B) faster and sustainable and more inclusive growth
(C) inclusive and sustainable growth

(D) None of these

TRE! Yaasia AT 1 & 3¢ 2
(A) felerd foepme 3R Fredaar famor (B) g4, 9mofia 37K 3tfss afeferd fasme
(C) Tftiferd 3R e e (D) 7 @ i T |

Who is the Vice-chairman of NITI Aayog ?

o

ferega St 1 |
|

(A) Arvind Panagariya (B) Narendra Modi
(C) Rajnath Singh ] (D) None of these
NITI 3T o 3-8 HH & ?
(A) 3mfg TN (B) RguE
(C) T farg (D) 7 @ i3 T4 |
Who is known as the father of “White Revolution’ in India ?
(A) N.C. Borloug (B) M.S. Swaminathan
% V. Kurien (D) None of these
Wﬁ “dd ShIld’ <hl STHeh HIFT STdl % ?
(A) T.H. SRem (B) UH.TH. WA
(C) . Bl (D) T & rE T |
WTO came into existence at the conclusion of which round of GATT ?
(A) Urugua (B) Tokyo (C) Marrakesh (D) Singapore
GATT (ﬁz)é%&r‘qﬁtﬁmﬁmWTosTﬁ%aﬁm? ’
(A) 3% (B) Al (C) HTHI (D) f&mg
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164. The monetary and credit policy is announced by which of the following ?
(A) SBI (B) RBI
(C) Ministry of Finance (D) NITI Aayog
freferRaa o @ feraes g Hifges 31w Hfif =Nifyd gt @ 2
(A) e (B) Mg (C) e (D) ifa smm

165. The controlling authority of government expenditure is the

(A) NITI Aayog (B) Finance Commission
(C) Ministry of Finance (D) None of these
IR S5 <hl AT &<l &

(A) Hifdsmm (B) fmasmm  (C) fmme™ (D) A SETE |

166. The concept of Judicial Review in our Constitution has been taken from the

Constitution of

(A) Australia (B) Canada (C) _USA TéD) Ireland

FAR GG | =TTreh TeT01 hl HehodHT $Heh HAgH A & T3 & - .

(A) sigfern  (B) ATel (©) WY (D) ete
167. Right to Information in India is a

(A) Legal right (B) Fundamental right

(C) Both (A) & (B) (D) None of these

YT H =1 1 DR 8 Th

(A) Terfersh Fferept (B) ifeish e

(C) (A) 3T (B) TH (D) ¥ & HR T |

168. The ideal of ‘Welfare State’ in the Indian Constitution is enshrined in its
(A) Preamble
(B) Fundamental Rights
(C) Directive Principles of State Policy
(D) None of these

TR GfIe™ § “Heaorhil T 61 e 6% 4 fafga s |

(A) IHE . (B) wifeieh e

(C) T o Hifd Freeres fgia (D) T 4 ®E T |
169. Who is competent to dissolve the Rajya Sabha ?

(A) The Chairman, Rajya Sabha (B) The President
(C) The Joint Session of Parliament (D) None of the above

T a1 ! ferafed & o fofe S Tgm 8 2
(A) TST AT & FYTIfd (B) Tgufd
(C) HHE o T T (D) 3T H ¥ HIE & |
170. Which one of the following is the oldest mountain range in India ?
(A) Nilgiri (B) Satpura (C) Aravalli (D) Himalayas
FAfRiad 5 & HH-E 9 Sl 98 T=H 9od 5@l § ?

(A) fafift (B) Hdgel (C) aett (D) feurer

171. Sambhar Lake is nearest to which one of the following cities of Rajasthan ?

(A) Jaipur (B) Jodhpur (C) Udaipur (D) Bharatpur
I 3t Toredd o FAefeiRad § 9 9 8 W8t 9 UeheH T9idieh g 2
(A) ST (B) uR (C) 3&aL (D) WA
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172. Which of the following is a popular folk dance of Maharashtra ?
%A) Tamasha (B) Garba _ (C) Dandiya (D) Bhangra
I I HERIY 1 GIHG Al 8 ? .
(A) W (B) TR (C) eifem (D) wrTet
173. Which among the following is best temple of Vijayanagar Art ?
%A) Hampi (B) Amravati (C) Khajuraho (D) None of these
<hI9 TT [ISTETR hell Sl Ty

(A) &t (B) sm&Ed  (C) @RI (D) 3T 8% TR |
174. Where was ‘Azad Hind Fauj’ set up ?

(A) Myanmar _(B) Indonesia  (C) Japan (D) Singapore

“3TSATG T6G WISl <hl TATOHT al g5 off ? ‘

(A) ®FER (B) FMRET - (C) WM (D) fam
175. Who laid down the formation of modern postal system ?

Lord Wellesley Lord Hastings
(C; Lord Dalhous1e (D) Lord Ripon
Yo SToh LT <hi g fohe STeft off 2

(A) ASdiwelt (B) w@eefm  (C) @ sarl (D) e fum
176. Lal Chand Prarthi was born in which of the following district of Himachal Pradesh ?

(A) Kangra (B) Kullu (C) Shimla (D) Una
AT =1 1T ot 9 TerTeret St o foher oot | g3t o 2
(A) TS (B) el (C) fomem (D) &1
177. Which one of the following is the first recipient of Param Vir Chakra in
Hlmachal Pradesh ?
Rifleman Sanjay Kumar Honorar{]Captam Bhandari Ram
Major Som Nath Sharma Captain Vikram Batra
ﬁmﬁ@aﬁﬁaﬁqwmﬁw =I5k ITH i STeTT JoH STk o7 ?
(A) TSHAR H\ﬂqgﬂ-ll{ (B) TG HHM WS UH
(C) TSR AT It (D) e farsmm &
178. Himachal Pradesh Technical Education Board is located in
(A) Sundemagar (B) Hamlrpur (C) Mandi (D) Dharamshala
eIt SRt dehteh et al1S sl W fera & 7
(A) e (B) &HR (C) W (D) gHRITeT

179. Which one of the following district of Himachal Pradesh has the lowest
llteracy rate accordm% to Census 2011 ?

%ﬁ:)r%%ﬁmour Lahaul- Sp1t1 (C) Kullu %;)) Chamba
feuTaet I¢e % I | Tet § SOET 2011 % AR 998 A

TTEIAT L8 2 .

(A) Tamm (B) @mea-faafd (C) Hpoeel (D) =&

180. What is the rank of Himachal Pradesh as populous State of India as per Census
2011 amongst all States & Union Territories of India ?

(A) 18™h (B) 21 (C) 20" (D) None of these
SFITOAT 2011 % STER T8 37146 SHEEI o IR W 97 & aft T3 3R
Wﬁﬂuﬁhﬁwmwwﬁw%?

(A) 18at (B) 21t (C) 20at (D) T8 & g & |
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181.

182.

183.

184.

18S.

186.

187.

188.

Halda and Fagli festival is celebrated in

(A) Kinnaur (B) Kullu (C) Lahaul-Spiti (D) Shimla
geAgT 3T HITet RNER BRI STl 8

(A) Teramd (B) oo H (C) wea-farfad (D) fwend
In which year Himachal Pradesh became a Part ‘C’ State ?

ferer o feTaret It WHT “C” U= &1 2

(A) 1950 (B) 1948 (C) 1952 (D) 1951

Baira Siul Hydro Electricity Project is constructed across the tributaries of
which river ?

(A) Chenab (B) Beas (C) Ravi (D) Yamuna
foper 7t < wETrh T R AU fige Serferga aiEsET 6 fmio g3 R 2
(A) =TS (B) =& (C) TRt (D) =g

In which of the following place breeding farm of Yak has been established in
Himachal Pradesh ?

(A) Kinnaur (B) Kullu (C) Shimla (D) Lahaul
TeuTaet e o f=faiad # & fopm T W ATk 5+ %1 SATUd g3 & 2

(A) FraR (B) FHeTL (C) formen (D) &I
Gumma and Darang are famous for

(A) Slate (B) Mica (C) Rock salt (D) None of these
(A) wF (B) I (C) Hua (D) &7 & g e
Which of the following is in ‘Ramsar Site Wetland’ list ?

(A) Govind Sagar (B) Renuka

(C) Rewalsar Lake (D) Maharana Pratap Sagar
frefetiad @ & =i Tma wrge e gef d 8 2

(A) Tifeg AR (B) et

(C) T 3 (D) HENIUT JaT9 AR

In a code ‘STATION’ is denoted by ‘URCRKMP’, then ‘BRING’ is denoted
in the same code by

(A) DSGLH (B) DSKPH (C) DTKLH (D) None of these
fopet Ig & ‘STATION’ %I ‘URCRKMP’ € ST SITaT & 1 3% i § ‘BRING’
3ok g ST SIRAT ’

(A) DSGLH  (B) DSKPH (C) DTKLH (D) T ¥ g &l
Introducing a lady, a man said, “The only son of her father is my father”. How
is the man related to the lady ?

(A) Nephew (B) Son (C) Father (D) Brother

Teh igell o1 U= hUd gU Teh HATGHT < <hgl, “gHeb TUa1 o1 THAR 3o W fuar
& 1 38 ITeH 1 Afgell H A T @ 2

(A) wdten/wien  (B) 9 (C) fue (D) g
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189.

190.

Sarita is on 11" place from upwards in a group of 45 girls. If we start counting

from downwards, what will be her place ?

(A) 34th (B) 351 (C) 36 (D) None of these
[ °h Teh GHg H TIAl 1 TH W H 1137 g | Al 30 = § Tt T/

ﬁ N 3T T BRT

(A) 34at (B) 35at (C) 36at (D) T8 & g & |

Sehgal started to move in the direction of East and moved 6 m. Then he turned

to his right and moved 6 m. After this he walked 20 m in the direction of

North-West. Now how far is he from his starting point ?

(A) 10m (B) I5m (C) 20m (D) None of these
el TQR11 3 1 IRY T 8 3TN 6 m =il & | 971G § 98 g1 qedl § 3R

6 m Id & | TH 8T § 98 IT-ufead fem # 20 m IadT & | 316 98 379 3TRY

fag & foragra ?

(A) 10m (B) 15m (C) 20m (D) 398 | HIE & |

Directions (Q. 191 to 195) : In each sentence given below, there is a blank space.
Below each sentence, there are four words, marked (A), (B), (C) and (D). Out of
these words, choose the most appropriate word to fill in the blank.

191.

192,

193.

194.

195.

196.

197.

198.

199.

200.

I challenged him a game of chess.

(A) to (B) against (C) about (D) for
This train is running time.

(A) in (B) at (C) on (D) to

His services have been dispensed .

(A) of (B) for (C) with (D) in

I was delighted your success.

(A) to (B) in (C) on (D) at
None the brave deserve the fair.

(A) from (B) of (C) but (D) to
T 1 ata T8 7 -

(A) ST (B) gfe (C) @ (D) 3w
BT H I AT R ?

(A) TS (B) &% (©) fa (D) weshife
‘I W15 o1 Ay -To=eg B :

(A) AT +9Y B) II+ 33 C) A+ (D) I+ 313
T g T |

(A) FHN® (B) @I (C) wHTS( (D) 9

oAl A T THT eI T S B
(A) 9@ " AT (B) <Tet B AT
(C) mafd d & ST (D) 0 O His &l
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